11 ANS9N - 129N
5.3.2013

MY N9AP MY MIPY X9MM ,NPPONNN 3 214 970 .mschein@math.niu.ac.il W YN 977 - DNPM NI P09

.DAYR D7I1P2 /N TVDNDY DXNNA ON NN P9MIM ,DNINAN )N 2N DN YRIN DINN

1029999919 XY ©9NVIN .1
PON VNN PTIND YT PNINNN NN NNY DY DN, 1NN DMNX 099 D

:0YPNNY T2 F(X) nn»pnn nnspna nyn f 5w nnmip mspng i X yopa namm f(x) mspna nn : pInn
X97manrvoF(x) .1
Xax99 F'(x)=f(x) 2
J F(x)dx ©»on NS MMTEN NPEPENON NP NN f(X) SY DMDN KN HYVOPRD 8PN f(X) XN I
.DINN2 X999 G(x) = F(x) + C v 72 Cy1ap 0»P NN f(x) S¥ mmyTp nospng snw F(x), G(x) ny»nn :myo 1.1
H'(xy) = G'(xg) — F'(x0) = f(x0) — f(x0) = 0 0»pnn xy 935 w ™ .H(x) = G(x) — F(x) >7 : NN
AMTN NN HIAPY DN NN W H(x) = € = G(x) — F(x) v 75 CO»P 135 5000 97y nviap mdspns H
[ RN
S(x) 5W PTIP TPSPND NOIVIVR F(XN 18PN f(x) NN : mayv 1.2
Jf(x)dx ={F(x) + C|C € R} =F(x)+ C»x
9917 YONNWN T8N 199 F (x) + € nnsn XN 0»pnn G(x) € f £ (x)dx 2y »2 DTN 97y DIXYTY DX : NN
R3Vaval

NP INNYA DM P> PR D) 199 fx) N0 G(x) € {F(x) + C|C € R} Y5 5w mwin » 712 v ool

movn

$INIVIIN HY MDY

n X2 x 995 u(x) € Uw 75 X DINNA NYTIN 7PIPND ulx)H U DINNI MYITNIN DXPNS f(x) 2NN : DAXNA DINDOIN

F = Z—i,u’ = Z—Z UND % (F(u(x))) = ;—uF(u(x)) :—xu(x) = F'(u(x))u' (x) . mdn nvspnon muw

[x e dx nxawn:1x0m7

Fw) =e% F'(w) = e vmyon. u'(x) = 2x wru(x) = x2 7m0 pno

52PNN NN FPENVOPN 7Y FNVPNN 1PN [ X eXdx = ) %u’(x)F’(u(x))dx T3 YNOYRN NXR DIV N
JxeXdx = %exz + C xam mw

N[ w () F (w(x))dx nmsnn mm S o»Nnw 1o du = u' (x)dx n»pny mEpns XN Xin 29950 1pyIn
S F)dx = F(u(x)) + C 2m 9apnn Ym0»8n 199,097 u F(u)

sinx

dx nNavN: 2 NONT

[tanxdx = [

COosX
.du = —sinx dx Yapn cos x = u X : PIN

sinx

o [ dx = f—%du = —In|u| + C = —In|cos x| + C DX 525 M1 HY HNMLINI NNT XD

J3xVx? —a?dx : 35007

CcosXx

3 32 2 3
fg Vudu = SsurtC= (x%2 —a?)z + C Yapn "2 590 8 .du = 2xdx Yapnu = x% — a? P PN


mailto:mschein@math.niu.ac.il

J Va? —x?dx :4n0m7

. X .
19N SNOPNM (6 = arcsin— XN MNWHN NAIDN) X = asin Gy Y WaN 15 x € [—a, alw n1ona: s
a? [ cos? @ df 9 197 HYNOYPNN DXLV DXAWN MIOPMMIL MM Nasn 7y, [ 1/a? — (asin8)? acosl db ©

%az [cos20+1d6 = % a? (9 + %sin 29) + € 910»NN Yapnn .cos? § = %(1 + €0s 20)v D281 NN

2 . 1 X
J Va? —x%dx = a?arcsmg +-xva? —x? 4 € 91p% 6 = arcsin = NN 80 1) NYO)

. 1 . X
N2 9NOPRN HIPNN SNOPNI MM ,x = @ sin§ nyHn >y 729 wn . [ W dx = arcsin— + C: 5807
1 a cosf x
DM . | =—=dx = | =———==df = | 1d0 = arcsin=+ C
nmnd J.\/az—xz J.\/az cosZ 60 f a
Xype—X i X_p,—X
.coshx =222 Sinhx =shx = £ : DD

.Y DY15919N DIDIPY DINDY NMTL ,cosh NN YaPY 7N YY sinh NN NN sinh AR H2P5) cosh NN NNHD 1N
.sinh? x + 1 = cosh? x » Yapnn
1
5Y NIINNA NTTHIND SINN AT DIN NN9Y 30 7M™, [ T dx : 6 NONT
1 .
wany .x o7y 6 nyana nvapnn nrm»yam [ ——dx = 6 + C,x = asinh0 »1Y X12>v 0NN NN Y23 : NS
VaZ+xZ

ef_e—0

X . . .

923 NN NN 6 = Iny NX yPoN - = sinhf = 92y (Arsinx N9 XA ,sinhY 1P9NN PPN NN
2x

22PN RN VINOPNY INND XAPNN YNWL P DN DN, Y2 — (7) y — 1 = 0y nxnwn

1
0N NV TNTH YMINY , M IR DVIN PN, 0 = Inyyr,y = E + Z\/xz + a? b

1 1
J—==dx=1In |f +=VxZ + a2| + C NN 90N NIWNN
y va?+x a a
) (cost,sint)
1 2NN NIV DI INXI,TINT Y YOIWNI NPIVNMINIVI NPIPNN DY NIPN NTNOY INND
l IRPDYN NN ,NTNN DIVHD XIPIYV DIvNI NNT

: INDN NNONN 7Y NYTY DIVNY NPIOVNIMNNIO NI

sin®0 4+ cos?6 =1 .x
.sin 280 = 2sinfBcosf .2
.c0526 = cos? 6 —sin?60 .

© NV NIIIN 7Y NIRT MINIY I ,NINRHD DOV INWYN 9D



